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1. a2 Fofoier.
(1) n({1, 2)+n({3)
(2) n({1, 2, 3, 4) —n({1, 2, 3)

n 3,1

(1) n({L, 2) +n({3) =2+
(2) n({la 2, 3, 4) - n({]-’ 2, 3) =4-3=1
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n(A) =10
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(1) 6 o]5te] AAAFE= 1, 2, 3, 4, 5, 60|22 n 9]
Zroll 2t 2 o dstA
n=19 M 4xn—-1= )
n=2¢ W, 4xn-1= )—1=7
n=3¢M,4xn-1=4x3)-1=11
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n=4Y8M,4xn—-1=(4x4)—-1=15
(
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4 x2

-1=3

n=>5% 4x5)—1=19
n=6<Y M, 4xn—1=(4x6)—1=23 0|t}
(2) 5 °]5+e] AAGE= 1,2, 3, 4, 50| 22 m Ao
22 Y5t
m=1g4d M, 2xm-2=2x1)-2=0
m=2dm 2xm—-2=(2x2)—-2=2
m=3LdM,2xm-2=(2x3)-2=4
(2x4) -
(2x5)

,dxn—1=

m=4Ld M 2xm—-2=(2x4 2=206
,2xm—2=(2x5)—2=38 o]t}
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